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AN =S
o NRASANCGEHSY(LBDTHY /A )
S MHSAEEXE cf
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OflEY HEUASAME(ER02 LetE X
) 1,800,000 1,800
OZ0tH HAEXJASAS (A2 AEHLsSA
1,800,000 1,800
HHESA 243 X 23,400 23,400 0
< 7,020
s 16,380
201 £B-2dH| 10,100 10,100 0
< 3,030
s 7,070
01 At 22l 9,000 9,000 0
ONJASA &3 A2FHI 9,000,000& 9,000
< 2,700
[ia 6,300
03 & Ar2 I 1,100 1,100 0
OXNESALL WEZAL =< 550,000& »2H 1,100
< 330
s 770
206 T 24 6,500 6,500 0
< 1,950
[ia 4,550
01 =4l 6,500 6,500
OXNESAH ESTHEH F
500,000 =137 Et X 6,500
< 1,950
s 4,550
301 LA F 6,800 6,800
< 2,040
[ia 4,760
09 SALAHIX A S 6,800 6,800
O SAtnE & &3 Al 6,800,000& 6,800
< 2,040
[ia 4,760
HdEXNISAL 243 X2 5,830 5,830
< 1,750
s 4,080
206 TH 2 H 3,830 3,830
< 1,150
s 2,680
01 =4l 3,830 3,830
ONIZXNIASAN 285 M= 3,830,000 3,830
< 1,150
s 2,680
301 LA F 2,000 2,000
= 600
[ia 1,400
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2H: FoI=XD
o NRASANCGEHSY(LBDTHY /A )

e ANFSAIAE X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
09 HAIAHI X & 2 2,000 2,000 0
ONESXIAZEAMNK SSH L DNEH|
10,0002 x200H 2,000
& 600
= 1,400
NAEA 20 UH0IH ALY -4 59,148 58,086 1,062
= 29,574
= 29,574
101 Q124 4| 59,148 58,086 1,062
= 29,574
= 29,574
03 RIHS*ZZXHE = 59,148 58,086 1,062
OXL=EA 2OIHOIE @ AHH|(2Y)
29,574,000 x2H 59,148
= 29,574
= 29,574
NS AH ZOUWOIH 88 X& 16,630 26,841 A 10,211
101 Q121 H| 16,630 26,841 A 10,211
03 RIHEZZXHE = 16,630 26,841 A 10,211
OXEEAI 2CIUIOIE Q2H4b8], =%, oddl S
16,630,000& 16,630
=2 S8 JNE=EANEE I HAHlA XH 3,772 4,070 A 298
= 1,886
= 1,886
307 212t0| & 3,772 4,070 A 298
= 1,886
= 1,886
06 22 3,772 4,070 A\ 298
OXNISAIA S22 It 3,772,000& 3,772
= 1,886
= 1,886
ZOHel 22X ST (AMIEX /I Z=MEE T 7,108,091 6,631,600 476,491
= 3,503,196
& 868,432
= 2,736,463
ZHOHQl SHAI L AL EES A 2,428,443 2,302,413 126,030
= 424 369
& 383,337
= 1,620,737
HOfQISHAL 2 AT ES K& 109,539 110,122 A 583
201 gEt24y| 4,027 4,330 A 303
01 AP 22| H| 1,908 2,120 AN212
OHOMAXS X EX H 2 1,100 «1,0800H 1,188
OBMUYR +8S 215t S20441H|
8,000 2% x453] 720
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AN =S
HE: Do =X SH(MSK /I ZMESE)
Chol: HOHO AL U ABIEE N (el @2)
4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
02 3322l 2,119 2,210 A9
OFAUFMAE AHSI A
33,330 128 400
OZMASEES SEHS 2= 3,820& 45004 1,719
202 oddl 2,220 2,500 A 280
01 = LH o4 1l 2,220 2,500 A 280
QXA AT o1& AR 2L 0iHI(
22) 70,0003 x2H %43 560
OZOel HoAE usEFA 42 =38 FUHN
gl (22l) 70,0003 x2H x53] 700
OFMHALR2IAIY SR =& FWAHHLI
20,000 x3YH 128 720
OZofe asXd 42 =8 SHAHHI
20,0003 *3H x43] 240
307 21201 A 103,292 103,292 0
11 AISI S XA E X 103,292 103,292 0
O=s0telgs 249H XN 500,000& 123 6,000
OXHMZOHIXIE 2el28Hl  950,000& 128 11,400
OXMZEHLX 2 AHS=E el
30,560, 000& 30,560
OXIMZOoHRI X2l 2tAH 21| 24,500,000 24,500
OXHZEMLEs =28 29 |RF
8003 *8602| B x9& 6,192
OFMeREIAA 2F(XMEOHLIXIS)
3,000 *20H x 12«12 & 8,640
OSE+ 22 (8ES 22 23859, XX
ZoHel X 3l) 500,000& 500
O&Me ZatdMe Z208 29 4,000,000 4,000
OFOHel StAH==&3l il 2,000,000& 2,000
OFoel s¥e & JHA 1,500,000 1,500
OZO SotS=HM ¥ EsZ2=4 ot
1,000, 000& 1,000
OFofera e J1ga &t 2,000,000& 2,000
Osoteloyg J1g4al & soteldM=ss &It
2,500,000& 2,500
OEXZEoIoY &AL L AIZEMHAMEUHS &
ot 2,500,000& 2,500
ZOHQ THEAE 24 2,150 2,320 A170
201 L2l 1,530 1,700 A170
01 At 22l 1,530 1,700 A170
OZMATHEANE HEFH EHFY
225,000 »23| 450
OZOMATHEAE SR +HE 28 S20HAHI
8,000 »3H 45 1,080
202 o4dl 620 620 0
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el ROjQl BAF W ABIEE X (B9 ®R)
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 = LH 4 bl 620 620 0
OFMMATHEANE RNEEA A2 U HHI(
220) 70,000& x2H «33| 420
OFMHATHEAE NEFZE g2+ FUAHYI
20,0003 »2H +5 200
Zojel ¥ Hs=EL0 AEMEA K& 21,000 21,000 0
307 gl2tol & 21,000 21,000 0
11T ALS S XAEE = 21,000 21,000 0
OZOME & HES=E Q2 MEAY
15,000 *23| x12& «50H 18,000
OFe & HNsSHLQ MEAMY I =
u]l 250,000& 1228 3,000
ZUIESHAE 2Y 233,204 233,204 0
< 42,927
s 190,277
307 21201 A 233,204 233,204 0
< 42,927
[ia 190,277
10 M SXNANEHES2IHEX 233,204 233,204 0
QX EsXAEY 2 (2128 L 222Y
dl) 228,884,000 228,884
< 41,199
s 187,685
OFMHABSHAAT SAA E8E
90,0003 x4H 128 4,320
= 1,728
s 2,592
XNNZ2AMSE 29 396,180 396, 180 0
< 72,738
= 323,442
307 21201 A 396,180 396, 180 0
< 72,738
[ia 323,442
0 ASISTANEHE2IHES 396,180 396, 180 0
OZ2AILE 29HI(212H & 22l22l)
389,700,000 389,700
< 70,146
s 319,554
OZZAHE BSAX S
90,0003 x6H 128 6,480
< 2,592
s 3,888
2N =2AE2SHH 29 285,627 285,627 0
< 52,601
[ia 233,026
307 21201 A 285,627 285,627 0
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SN Fe=xn
Bu: Mool 2K SH(MHSX/IZLBSE)
TRl ZHOHQ!I SHAF & A3 E S XIS (&2 &)
SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
=] 52,601
= 233,026
10 MM SAANEEHESIHEX 285,627 285,627 0
OXNHQF2AESHE 29| (2 HH & 2422
AH|) 280,227 ,000& 280,227
& 50,441
= 229,786
OXHMRAF2AESHE SAHAL S8
5,400,000 5,400
= 2,160
= 3,240
O HFAIE 22H XA 613,987 501, 138 112,849
- 420,369
== 59,381
= 134,237
307 QI2t0| ™ 613,987 501, 138 112,849
- 420,369
== 59,381
= 134,237
10 MM SAANEEHESIHEX 613,987 501, 138 112,849
OFMOANEAL SGHI (A2 X 22l2Ay)
) 600,527,000 600,527
= 420,369
[ 54,047
= 126,111
OFMAHFAE SANEESH
12,960,000 12,960
< 5,184
= 7,776
OFOMAAHAFTAIE HEFAH| 500, 000& 500
= 150
= 350
ZONQIMEAAL (A D) 2H 424,708 424,708 0
o= 87,800
= 336,908
307 212t0| & 424 708 424,708 0
== 87,800
iy 336,908
10 M3 SXAIEEHES2IHIEX 424,708 424,708 0
OMEOZE 29| (o1HH & 22=22Hl)
410,168,000& 410,168
& 82,034
= 328,134
OMEBOZE ESAINEE S (11Y)
14,040,000& 14,040
& 5,616
= 8,424
OAt22 & 2 EFAH| 500,000 500
& 150
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SN ZU=XY
M O =X SA(MHSN/IIEZMERE)
S O A H AtSES XE (&)
= d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SEEELEFEINEREREEEEICELE
22| 294l) 130,000, 000& 130,000
< 26,000
s 104,000
OFEHMHAUSOISNELE SMIASESY
3,240,000 3,240
< 1,296
s 1,944
=otESGHH 29 115,640 115,640 0
< 23,776
s 91,864
307 gl2tol & 115,640 115,640 0
< 23,776
[ia 91,864
10 MBI ZXNANEHI2IHES 115,640 115,640 0
O+0SSME 2 (22 ¥ 22I298)
112,400, 000& 112,400
< 22,480
s 89,920
O+=0SIHH SANSESE 3,240,000& 3,240
< 1,296
[ia 1,944
LI ASEHEZZ2O#(NEZ2Y) X 9,000 9,000 0
< 2,700
e 6,300
307 glz2+ol & 9,000 9,000 0
< 2,700
e 6,300
11T MISRASEX 9,000 9,000 0
OLLTM AMSIBHZZIH(NHE2)
9,000,000& 9,000
< 2,700
[ 6,300
Foels=Huas Z20H 29 5,000 5,000 0
< 1,500
e 3,500
307 glz2+0ol & 5,000 5,000 0
< 1,500
s 3,500
10 ALSISXAIEEE2GHEX 5,000 5,000 0
Ol na =28 2% 5,000,000 5,000
< 1,500
s 3,500
Fojel EXNo ¥ 22X oL 29 28 ¢ 10,000 0 10,000
405 XtAtE SHI 10,000 0 10,000
01 AL EFH S 10,000 0 10,000
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L= B

el

ST (MEEX/IN =M
talgs X2

=3

= ]
= Lo

xr)

Off &t 24

=

i
2

10,000

Mo A

8,000
4,000
2,000
2,000

8,000

405 TtabH S|

MR

8,000
4,000
2,000
2,000

8,000

HoH

8,000

8,000
4,000
2,000
2,000

8,000

MW

4,679,648
3,078,827

485,095
1,115,726

4,329,

187

350,461

02

2
e
oy
Ul
X
>
Ol

MW

2,055,240
1,438,668
184,972
431,600

1,988,

368

66,872

Mo

2,055,240
1,438,668
184,972
431,600

1,988,

368

66,872

2,055,240,000&

A

2,055,240

2,055,240
1,438,668
184,972
431,600

1,988,

368

66,872

Mo R

154,567
108,197
13,911
32,459

183,

823

744

Mo R

154,567
108,197
13,911
32,459

183,

823

744

154,567,000&

HH A

154,567

154,567

108,197
13,911
32,459

183,

823

744

160,277

162,

571

AN2,294
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2N

xD|EX|ﬂ|>

T T/

o ZoHe =X (M=K ELBSE)
SOl FONQ MEOIE X (B9 ®R)
x 5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 112,194
& 14,425
= 33,658
301 et A= 160,277 162,571 N2,294
= 112,194
& 14,425
= 33,658
01 Al E & A 46 2 160,277 162,571 N2,294
OXNMHEEH (XA =,286Y) 160,277,000 160,277
=2 112,194
= 14,425
= 33,658
Hofelel2 4|l N 28,246 113,093 N 84,847
= 22,597
=} 1,695
= 3,954
308 MXISHMSOIA 28,246 113,093 N 84,847
= 22,597
= 1,695
iy 3,954
11 2| 2S0UsHEAXAE A S| 28,246 113,093 N 84,847
OZof el o 2l 28,246,000 28,246
= 22,597
& 1,695
= 3,954
MASZEC &ty & 2 AtH X 1,400 1,580 A 180
= 700
= 210
= 490
301 et A= 1,400 1,580 A 180
= 700
== 210
= 490
01 Al E & A 462 1,400 1,580 A 180
O&ASE R Y| 1,400,000 1,400
= 700
= 210
= 490
Moo E=XNESHAR 1,197,374 1,060, 132 137,242
= 838, 162
= 107,764
= 251,448
308 MXISHHMSOIA 1,197,374 1,060, 132 137,242
= 838, 162
& 107,764
= 251,448
11 B 2SHUSEAXNE AIS Y 1,197,374 1,060, 132 137,242
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L= B

el

xD|EX|ﬂ|>

T T/
X S (M =X/ ZHEEE)

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

OZSXNAS0H(56Y) 1,197,374,000&

MW

1,

197,374
838,162
107,764
251,448

o
O
T
v
.
>
ol
X

HH W

2,870
2,009
258
603

2,586

284

308 MtXIEHMSOIE

Mo H

2,870
2,009
258
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2,586

284

)
1]
on
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o
o
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0%
1A
40
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>

O
O
0l
024
2
e
ok
0
HL
o
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I 1
(=}

2,870,000&

Mo R

2,870
2,870

2,009
258
603

2,586

284

2SI E & FIHAE A

EURE

61,764

15,441
46,323

15,466

46,298

308 MHXIHM S0

UL

61,764

15,441
46,323

15,466

46,298

61,764,000

EUNL

61,764

61,764

15,441
46,323

15,466

46,298

SLMEMHIA BISHAA

MW

96,565
67,595

8,691
20,279

73,152

23,413

308 XXM S0l ™

MW

96,565
67,595

8,691
20,279

73,152

23,413

S|
il
on
=2
o
ro
[> 0¥
0z
e

O o
ne
o
=
]
>
[=s

96,565,000&

Mo H

96,565
96,565

67,595
8,691
20,279

73,152

23,413

DITHE AU A SH SHOUAS

VR

2,160

648
1,512

1,680

480

307 21201 &

M

2,160

648
1,512

1,680

480
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2H: FoI=XD
o ZoHe =X (M=K ELBSE)
Sl ZOjl MEOIY X CER-ED

SN - SAGEA) - MRAY - BES 0l &t o

=

M
2
==
£l
Ol
0y

[m]
U

Er
5

05 gl

E

OLEMEMblA & TtHl X3 AH

oy

2,160 1,680 480

[
r

EHHALY)
160,000& 2,160
648

1,512

(
2,

UL

O SaMEIEXE 2,000 2,000 0
1,400
180
420

Mo R

301 LetE2H = 2,000 2,000 0
1,400
180
420

HH A

01 M BEHE 62 2,000 2,000 0
= =

2,000,000 2,000
1,400
180
420

Mo H

oL X3 (et dRel) 208,540 204,010 4,530
104,270
31,281
72,989

MW

101 1Al 197,735 193,205 4,530
98,868
29,660
69,207

MW

04 JIZtHZ22 s+ 197,735 193,205 4,530
OZOH I L Xel At ot &

A el A H| 183,372,000& 183,372
91,686
27,506
64,180

MW

OFMALXeIALY deraE A Rtel( )
NS 1,795,350& *8 14,363
7,182
2,154

5,027

Mo A

201 fEt2E | 10,805 10,805 0
5,402
1,621
3,782

MR

01 AFR2t2ltl 10,805 10,805 0
O LXelAtY Lt AT e (LE) 2

] 10,805,000& 10,805

5,402

1,621

3,782

Mo H
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2N
X ZH -
L= B o

el

xD|EX|ﬂ|>

T T/

OEO\_O

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ZoNl Y el K& (Al 2t L Xtel) 52,520 38,273 14,247
= 26,260
< 7,878
s 18,382
101 @14 dl 50,269 36,098 14,171
= 25,135
< 7,540
s 17,594
04 JIZHHZ2XREES 50,269 36,098 14,171
OXFMHLLXeIALY JerEARel (AI2ZHA) 2N
A+ el A H| 46,678,000 46,678
= 23,340
S 7,002
s 16,336
OFMAULXeIALY JerE ARl (AI2ZHH) 2N
i EEZ 897,660& x4H 3,591
= 1,795
< 538
i 1,258
201 ¢er24l 2,251 2,175 76
= 1,125
< 338
[ia 788
01 At 2t 2l 2,251 2,175 76
OFMHALLXeIALY JerEAReI(AIZHH) =29
=l 2,251,000& 2,251
= 1,125
= 338
s 788
ZONlY el K& (SX LX) 342,260 337,142 5,118
= 171,130
< 51,339
s 119,791
101 @14 Hl 264,879 241,630 23,249
= 132,440
< 39,732
s 92,707
04 JIZHHZ22XRHEES 264,879 241,630 23,249
OZOMeILXel At sSXELXtel FHX oA
=l 264,878,600 264,879
= 132,440
< 39,732
s 92,707
201 ¢er24l 11,157 5,206 5,951
= 5,578
< 1,673
s 3,906
01 At 22l 11,157 5,206 5,951
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2N

xD|EX|ﬂ|>

T T/

Ha: FH =X SA(MAZN/IIEZMEREY)
CHe|: EOjQl MEOHY X (2 &HH)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZWoIgReAY SNEg el =gl
11,156,400 11,157
2 5,578
o=t 1,673
= 3,906
307 2iz2to| & 66,224 90, 306 N 24,082
= 33,112
== 9,934
= 23,178
11T A EXAIEEX 66,224 90, 306 N 24,082
OZOHQILT2IAY XL (HOE, HE
) 249 66,224,000 66,224
= 33,112
& 9,934
= 23,178
BX)FuE 1,068 3,963 N 2,895
= 854
= 214
301 et A= 1,068 3,963 N 2,895
2 854
= 214
01 Al E & A 462 1,068 3,963 N 2,895
OZofel BxXD01D X< 1,068,000 1,068
2 854
= 214
0ol E SHolHA PRHIE K& 3,410 2,540 870
< 1,023
= 2,387
301 et A =2 3,410 2,540 870
& 1,023
= 2,387
01 Al B & A 462 3,410 2,540 870
O&elE 50l A 2 X 3,410,000 3,410
= 1,023
= 2,387
SLTOHOl FABSAHUIAK 177,400 71,300 106, 100
= 124,180
o= 15,966
= 37,254
308 XX SHHSOIH 177,400 71,300 106, 100
= 124,180
o 15,966
= 37,254
112 2SUHUSHEAEAE A Y| 177,400 71,300 106, 100
OLSZjel FALHSHUATE
177,400,000 177,400
= 124,180
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xD|EX|ﬂ|>

H: ZOQ =2X ST (MISX/INZHEEE)
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 15,966
s 37,254
LEIMC e SSHMEUAXE 86,587 57,308 29,279
= 60,611
< 7,793
s 18,183
308 AHAIEHHSOIA 86,587 57,308 29,279
= 60,611
< 7,793
s 18,183
113/ 2SoHUHSEHEAEALS I 86,587 57,308 29,279
Ooggzofel gz sAHUIAXR
86,587,000 86,587
= 60,611
= 7,793
s 18,183
e 2 R Y Z2JH 2 40,000 40,000 0
< 20,000
s 20,000
307 gl2tol & 40,000 40,000 0
< 20,000
s 20,000
11 ALS S XAEE = 40,000 40,000 0
OFHel B2 s Y T2y 2F
40,000,000& 40,000
= 20,000
s 20,000
AFBOHO BM Y =ors At X 5,400 200 5,200
< 1,620
s 3,780
301 LA F 5,400 200 5,200
< 1,620
s 3,780
01 MI2ZE 6= 5,400 200 5,200
ONF IOl 2 U =orsxy X2
5,400,000 5,400
< 1,620
s 3,780
HY2FZH (F2=XH)(INEH/IIEH) 24,960 56,820 A 31,860
Jl2&dl 24,960 56,820 231,860
JlE2zl 24,960 56,820 A 31,860
201 Let24E] 11,760 19,920 A 8,160
01 At 22l 11,760 19,920 A 8,160
O2N2Y LE2IHI 50,0003 x16H 128 9,600
Odlz, X 252 10,000& x 185 122 2,160
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Zol=xn
HE2AZH(FUSX D) (IIEH/IIE
Jl2&dl ool E )
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
202 Od4dl 9,600 28,800 A 19,200
01 = LHA YI 9,600 28,800 A 19,200
O=Fg=Xun J|
50,0003 x16H 128 9,600
203 YR =&l 3,600 8,100 A 4,500
04 2M2ES 3,600 4,800 A 1,200
ORA2Y 300,000& »12& 3,600
S(FU=SX W) 653,191 679,409 N26,218
Hel XI& 653,191 679,409 N26,218
S=SHEESA 653,191 679,409 N26,218
701 JIEtSI A S 653,191 679,409 226,218
01 JIEtSIH S 653,191 679,409 N26,218
Odz=0 653,191,000& 653,191
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